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C(x,y) = A(x,y)+B(x,y)
C(xy)=A(xy)-B(xy)
C(x,y) = A(x,y)XB(x,y)
C(xy)=A(xy)+B(xy)
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g(x,y)=f(xy)+n(x.y)
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D, (x,y)=S(xy)+N,(x,y) HHE{N,(x,y)}=0
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S*(x,y)
E{N2 (x,y)}
B(x,y) = %Z[S(x,y)+Ni (x,y)]
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e j=zeros(366,572):;

e [i map]=imread('F:\image\cancer.bmp');

e i=double(i);
e a=0;b=0;
e for m=1:365
for n=1:571
a=i(m,n)-i(m+1,n);
b=i(m,n)-i(m,n+1);
a=abs(a);b=abs(b);
if a>b
j(m,n)=a;
else
j(m,n)=b;
end
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o if j(m,n)>3
o j(m,n)=0:
o else
o j(m,n)=255:
O end
O end
e end

e imshow(j,[0 255]));
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H(D)=| H,(D,D,)D,
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